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The sum of a polygon’s angle measure is nine times the measure of an exterior angle of a regular
hexagon. What is the polygons name?
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¥ 13 Always, Sometimes, Never

If the number of sides of an equiangular polygon is doubled, the measure of each exterior angle

is halved A

The measure of an exterior angle of a decagon is greater than the measure of an exterior angle
of a quadrilateral S

A regular polygon in equilateral A

An equilateral polygon is regular S

If the midpoints of the sides of a scalene quadrilateral are joined in order, the figure formed is
equilateral <

f. If the midpoints of the sides of a rhombus are joined in order, the figure formed is equilateral
but not equiangular N
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